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] e 18.8 KN/m>
5" 30°
¢ =0 kPa

3.2m
44 m
¥
t,=182kN/m?
120 cm kS - 300
e 1 c=0kPa
25 <m
—

4 .05 m

¥
— 35 cm
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v= 18.8 kN/m?
§=30°
c=0kPa
K, :tgA2[45—%] :tgA2[45—%] =0.33
o,=yHK A —2cK > =27.5Tkpa
P =05Ho,=0.5(4.4)(27.57)=40.66KN /m
Location = i = ﬁ =1.47m
3 3
-« 60.66Kn/m
1.47m
27.57 KPa !

1 - Backfill pressure
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Ty 53 pslie L

sztgA2[45+%] tg ’[45+ 320] 3

o,=yd K, +2¢KpA2 =48.88kpa
P, =0.5H 0o, =0.5(0.9)(48.88) =21.83KN /m

H 09
3

Location = = T =0.3m

48.88 KPa e 21.88Kn/m ‘

2 - Passive pressure at toe
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" )53 059 dvwlome
(28)(1.14)=31.85KN /m =d, =1.63m

W, =y,A4,=(28)(1.01)=2835KN /m =d, =1.63m

W3 :7/3A3 =

_'1 B : iw,l
dl

TS 0 Al
(18.8)(6.07) = 114.2KN /m =d, = 2.5m

W, =y,A, =(182)127)=232KN /m =d, =0.75m

3 - wall weights

—\Wa

4 - Backfill weights
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R

R=W +W,+W ,+W ,=197.6KN /m

M=wd +Wd,+W.d,+W d,-PH /3=

1.63x31.85+1.63x28.35+2.5x114.2

+0.75%x23.2-60.66x1.47=311.8KN .m / m
M 3118

== =1.58m
197.6

1.58
= 1+3(1-2-"2)]=66.11kpa
=555 H+30-2270)] p

197.6 1.58
- 1-31-2—"2)]=55.5kpa
5[ ( 3'25)] P

T3Sl (65,5 Al

F = uR =(0.35)(197.6) = 69.17KN /m

5- Bearing pressure
6 - friction force
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"SS5 gl 3 Olaebl b Lnlos

Polie U duwlxo
<3
; KN/m) ,lsis m)s s 95k
Sy B 90 $30b Knm/m)
W1 31.85 1.63 51.76
W2 28.35 1.63 46.07
W3 114.2 2.5 285.5
W4 23.2 0.75 17.4
Pp 21.88 0.3 6.53
Js 219.48 407.3

P, =60.66KN /m =O0OTM =60.66x1.47=88.97KN .m /m

S = RM :M4.578:>0K

OTM  88.97

P, =60.66KN /m

Pp =21.88KN /m
F =69.17KN /m
>SF =91.05KN /m

FS

_RF _91.04

——=1.501=0k

T SF 60.66

S8 315 Al 53 Dliabl s 5

4,
P
SS9

Pelio (59

Olzeb) s b dlome

035li (gylis o8B J S

Max bearing pressure<allowable=>(66.11 kpa<l50kpa)=>bearing ok

7 - stability checks
8 - overturning check
9 -Sliding check
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' f F ¥ ¥ T 7 7 oy oy (DWeSOBKPa
\ I35cm
) 46cm A 1.5m g
1.25D+1.5L s

6’"}1’ o 9 Oles Al
M, =1.25(0.5e,L7)+1.25(0.50,L7) =
1.25(0.5%9.8x1.5%)+1.25(0.5x 76.14x1.5*) =120.9KN .m / m
Vf =1.250,L +1.250,L =161.1KN /m

bl (slas ks acnlows

M, =125(0.50,L7)+1.25(0.50,L™) =
1.25(0.5%9.8x1.52)+1.25(0.5x 76.14x1.5) = 120.9KN .m / m
V,=125w,L +1250,L =161.1KN /m

M, =®sdsFy (d —0.5a) =120.9x10" = 0.85x460x A5 (280—0.5x50) = As =1212mm * / m
use®20@20cm = As =1570.8mm "> / m

As min Z%XH)OOXQ,SO =8522mm™* /m < As — ok

Frd S

Ve=02071""d =02x0.6x25""x280=168KN /m =V, >V, —>ok

Lol J 28
M , =D®sAsFy (d —0.5a) =0.85x1570.8x460x (280—-25) =156.6KN .m / m
>M,>M, >ok

10 - Heel check
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1, =025 a4 > max(8d,,150mm) = 460 > 160 = 1, = 460mm
C

N

250mm:e ;Y o= Job fil



Fl ol b

mohamadhasanymostafa@yahoo.com .o deses iboas

Vo, b
() We=98kPa | | | ] +
rfryyvyveyevy
35cm \
PO Y TR T U U N S N | 61,21 KPa
< ———— ——> «——>
1.5m 46cm
1.25D+1.5L b obes 5

P S r 5 Olee drlons
M, =—125(050L>)+125[050, > +033(cg —, 1=
1.25%(0.5%9.8x1.5%)+1.25]0.5x61 21152 +0.33(66.11-61.21)x1.5° =76 89KN 1m/m
V, =-1250,L +125[@, L +(@, -, )L /2]=82.17KN /m

M, =®sAsFy (d —0.5a) = 76.89x10°° = 0.85x460x As (280—0.5x50)=> As =771.2mm "> /' m
use®20@30cm = As =942.4mm "> | m

As min :%x1000x280 =8522mm™* /m < As

S diS

Ve =020 f°d =0.2x0.6x25°x280 =168KN /m =V, >V, — ok

Lol J 28
M, =DsAsFy (d —0.5a) =0.85x942.4x460x (280 —25) =94KN .m / m
>M,>M, >ok

213 oM 5 Khs (6 5lgn Jsb s

11 - toe check



Fl ol b

mohamadhasanymostafa@yahoo.com .o deses iboas

1, =025 a4 > max(8d, ,150mm) = 460 > 160 = 1, = 460mm
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250mm:e ;Y o Jsb fsl
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12
N 4 av @‘J‘b
4.4m
27.57 kPa v
3 60cm
1.25D+1.5L b b oS
i s Olee drlone
. \
y o=@l _2TSTXAAT e SKN m I m

5 5
Vi =0.86wL =104.32Kn / m

las Koo dculoes
d =25-5-0.5x2.5=18.75cm
M , =DsAsFy (d —0.5a) =0.85xA4s x460x(187.5—-25)=106.8KN .m / m
= As =1680.9mm "> / m
use ®25@25cm = As =1963.5mm "> / m

As min :i'—;)x1000x187.5 =570.6mm™>/m < As

S dsS

Ve=02071""d =02x0.6x25""x187.5=112.5KN /m =V, >V, —>ok

Lol J 28
M, =DsAsFy (d —0.5a) = 0.85x1963.5x460x (187.5-25) =124.75KN .m / m
=>M,>M, >ok

j.sg)@.sjilgtgjl.g.ad}bwbu
1, =025 J%db > max(8d,,150mm) = 575> 200 = [, = 600mm
30cm:esY o5 Jsb folu>

12 - Stem check
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22 cm

MPS @ 25 cm

405 m

[oe:

Me( =

30 com

Heel:

1.5 m

325 m




